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Non-collinear Non-concurrent Collinear Concurrent The medians of a triangle are:
Area of a square with side 'S’ is:
271 & B o g b’n;ﬁtjz (}'557).?.)"4/!4 3
Circle Quadrant Line A plane Point on the axis do not lies in any:
r P(x
P 2y Q) #0 £ 2 hzs 2K S ng)) L4
fblﬁfby f’bL&" 2k 2Pl :.:‘;t'lkv()nu[._z/?/ Q(x) st
Mixed surd Surd e)l:;:g:slia;n Rational number | An algebraic expression of the form ggg ,
Q(x)#0, P(x) and Q(x) are polynomials is
called a;
" - 5§ ; K PD G P = x> +3x2 < 3x +1.f1| 5
If P(x) = x3 +3x% —3x +1, then P(-2) =:
LM e 1] Lipm LCMxHCF _, LCMxHCFE| ¢
B T 1 Second expression| First expression ¥= Sy
o 0 ° o 7
s 150 i H -|Angle'e'is: €t rno e el il
e b P 72 . v =
Iy Bed B Fry ik | LIl el 8
Non-concurrent Non-collinear Collinear Concurrent The altitudes of a triangle are:
aZ+b2 —4ab 4ab 2(a2 +b?) (a+bZ—@-b2 =2 9
e (§E %3
=D exy+9)| @-00 x4 D) -2 eyd) | wepedeny ey A T
Factorization of x3 — 3 is:
g 7 > 2 . : AP |y
rybb + PIolsss {‘J,'f)li x Pk Sioibons (L’I)(e = Pzt
LCM+HCF | LCMxHCF L.CM. H.CF. Product of two expressions -9
LCM. )
0 +5 +5 -5 e S¥ |x)=5] 12
Solution of | x| = § is:
’ 0 1 3 = Eytous Kabl/(f.w) 13
A quadratic equation has a degree:
s S| g ¥ e bl B LS| 14
Scalar matrix Row matrix Identity matrix | Column matrix | A matrix consisting of one row is called a:
bl 717 i i (_ﬂ;ﬂ}(" oy . Mc?bLb/;"Lu’ udsls 15
. Circles with equal radii and equal diameters are
Concylic points Equal circles Semi circles | Concentric circles | ca]jed:
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Write short answers to any SIX parts.
If P(x)=x*+3x% ~5x 49 then find P()
Solve by using formula; (ab e -a%)
Define rational numbers with example.
Factorize: ax+ay-x? - Xy
Factorize: ~ x2+9x+20
Factorize:  8x°-y3 .
Find H.C.F. by factorization: abxy , aZbe
Find L.C M. by factorization:
Find square root: 16x2 + 24xy + 9y?

Write short answers to any SIX parts.
Solve: 3X+3(x+1) =69

Explain transitive property of inequality.
Solvethe inequality; X—7<5-2x
Solve:  |x=3]=5

Solve by using factorization method: ~ 5x2 ~6x~8 = 0

i

Define symmetric and skew symmetric matrix.

Define quadratic equation.

Find matrix product of:

-3 -2
If B= [_1 4] , then find the transpose of B.
Write short answers to any SIX parts.

Define straight angle.
Define congruent figures.
Draw a semi-circle with diameter 4cm at center O.

a=3  b=4,¢c=2?

Find the third side of each right triangle with legs a and b an

A cube of a side 4cm, find its volume.

(&)

21a*x3y, 35a%x%y | 28a3xy?

d hypotenuse c:

f =iz

o eyl 2 .
60 AF 50210 1=y
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Deﬁr.le collinear points. -“‘4: - /".L}/L &'3)25(7 (vi)
Describe the location of this point on the number line: (0, 4) (0,4) :g’;};kﬁf RS (vi)
Find the distance between pairs of points: (2, D> (-4, 3) @,h,(4.3 :g:’rPJﬂsquwJ (viii)
Define distance formula. -é - /."d/ Urslidel  (ix)

Ui 08 Livg g feinl et () ipndian
Part - II, Attempt any THREE questions. Each question carries 08 marks.

P ix= L BT i (

” 1 1
If x =\/§—\/-2_,then find the values of X~ and Xz"‘?.

Find the H.C.F by division method: x*+x%+1 , x*+x3+x+1 :gf!rk”f”wc.w’é.&““ ()

Resolve into factors; ~ Z* +64y* z* +64y* et A7 ()
Solve: m-13=vm+7 m-13=vym+7 &S ()
Solve by using quadratic formula; 10x>~5x =15 10x* -5x =15 hé S c.ud;f&u» ()}
Given that A = [12 _3{] verify that A2 4A+51=0 fégcab‘?n A= I:IZ _ﬂ S ()

5x+2y =13 - S ;
Use Cramer's rule to solve simultaneous equations: 2y 1 5§ =17 ..é S }(};’ ’JL")'/zé—J;./’éﬂf (=)

R STS U ekl ()
S mBIe MWE - GFBE L8 0215 20y Mg 92 o\Be i3S S 217 (L)

A ladder 17m long when set against the wall of a house just reaches a window at the height of
15m from the ground. How far is the lower end of the ladder form the base of the wall?

~HIUL L UGl d LT C(=6,7) 15 B2, T) « A6, 1) bBSZE st (L)
Show that the points A(6 , 1), B(2, 7) and C(-6 , 7) are of a scalene triangle.
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Construct a square whose one side is Scm.
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{-2, -3} {2,3} {2} {3} , e S 2 -5x+6=0| 1
Solution of Xx“~5x+6=0 js:
3 0 1 3 Ic"_t’n.y)fcabl/fg}f/?ﬁ 2
A linear equation in one variable is of degree:
0 Ix| R —x X :‘grggﬁzwfa{J‘&‘J x40 3
For each number x the absolute value of x is denoted by:
J~ S el d ahle !cb-d!kft_/czz b‘uuf:,blzdgzof »| 4
. . . Any value of the variable which makes the equation a
Constant Solution Inequality Equation | rye statement is called the:
g 2 i g GEALL I Pisieons| s
The number of methods to find L.C.M. is:
0 -7 -5 5 PO Je Px)=x3-2x2 +5x+1.11| ¢
If P(x) = x* ~ 2x% +:5x +1, then P()) =:
: 1 -
5 2 ! 0 oo Ja =2 (US| 7
5 Ul 5 ¢ B B WAECnsef] 8
Overlapping Equal Collinear Non-collinear tne are called:
LB sEwFE BB Hrols I g =K~ X2 +(ya—y)? | 9
Non-collinear Distance L
Equal points points Collinear points formula d= \/ (x2-x))% +(yz —y1)? iscalled:
& A 3/ 2 'l ulf(gﬂ(f(_.w(.g 10
Volume of a cube with edge '¢! is:
B b T B Eri it gLt uptil ekt 1
Non-concurrent| Perpendicular Collinear Concurrent  |The angle bisectors of a triangle are:
\ s ) | e bl U e likl| 12
The number of medians in a triangle is:
S o, Lwoisnr | g e Qb S L L L EE 13
Rectangle Square Parallelogram Polygon | A polygon with four equal sides is called:
&P e Gl ol (g Lmsduniis L e L din/l| 14
Tr:x}:{::sal Adjacentangles|  Unequal Equal If two angles are supplement of the same angle, they are:
2x1 et 3x2 27%3 ZQLGMJ’A;"O/U))KA’U)JIE"L}?JWJ{/ 15
Same In a square matrix the number of rows and columns is:
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. (Part-1
Write short answers to any SIX parts.

If P(x) = 9x® = 2x2 +3x +1_ then find P() .

Define rational numbers with example.

Solve using formula: (¢ +m)(¢ - m)(£? + m?)
Factorize; 3ax +6ay — 8by —4bx

Write factor theorem,

Factorize: 8x> - y

-«

Find H.CF. by factorization: ~ 4abc® , 8a3bc , 6ab3c

Find L.C.M. by factorization:  2ab, 3ab, 4ca

Define H.C.F.
Write short answers to any SIX parts.
Define trichotomy property.

1
Solve the inequality: FX> %(x -1
Solve: 3x+3(x+1) =69
Define quadratic equation.

Solve by using factorization method: ~ x2 ~4x + 12=0

23 17
If A =[] 5]: B =[4 6]’ then show that:

I -1
Find matrix product: [2 5][2 3]

1 23
; . B=[{4 5 ¢
Find transpose of: 78 9

Solve: 0.3x+0.4=0.28x +1.16
Write short answers to any SIX parts.

Define obtuse angle.
Define right angle triangle.

Define sector.

Write the angles marked with letters: 77°

Draw an equilateral triangle with length of 6cm.

( q—de )

3B-3A =3(B-A)

(b..")(z

’/‘))u;)/f (JWL&)U‘FEJJX
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4abc? | 8adbe , 6abdc S A wil)
2ab, 3ab, 4ca ;gr,b»ﬁ_;w,,uf;g,;g (viii)
S
Az L a2 §f
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3x> +0-1) ESebd (i)
WA+ =69 L i
&b e blnBns (iv)
ESL2s )
S et =[] 3] 5[ A o

25y 3] At o

3ax + 6ay — 8by —4bx

x2—4x+12=0

B=F} g EJ et (viii)
0.3x+04=028x+116 &L f (i)
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I£ 30, 72, 78 represent the lengths of sides of a triangle. Is triangle a right triangle?

Define collinear points. w5 W (viD)
Describe the location of this point on the number plane: (7, =5) (7, -=5) 2“{5‘-%@‘}3(5:@’@% (viii)
Find the distance between pairs of points: 2,D,(4,3) @,0n,4.3 :éf)”ﬁﬁuy»ﬁw} (ix)

A 08 L -Eofelnlatnded qbpaan
Part - I, Attempt any THREE questions. Each question carries 08 marks.

1 4 1. v
Ifx=\/§—\/§,then find the value.. of Xz""}'(?. -ép‘"‘a{u{ x? +;7,Jnx=\/—?;—x/§/i =)

2x2+5x+3 , X2+2x+1, 2x*+9x+9 1«5-:(}’03‘-553’"567;:1/% ()
Find L.C.M by factorization: 2x2 +5x+3 , x2+2x+1, 2x*+9x+9

Factorize: 64x” - xa° 64x"~xa® 2Ly f ()
Solve and check: x;l - X§3 > XZI +1 X;I - X'3"3 > Xil +1 :"édt'zj,l“éd’ ()

(x=-D(x+3)-12=0 :é{d’;ud;g‘}uu ()
Solve by using quadratic formula: (x-1)(x+3)-12= 0

2 -10 - 1 5 2 -7 1 2y ¢
M2 a2 -7 .1 5 ~_[2 -10
IfA--[3 __4], B—[S 8]’ C—[O 2j|thenshowthat A+B C—[g 2]
5x+2y=13 - . .. o
Use Cramer's rule to solve simultaneous equations: 2§:5§=17 ’éidpfuf bl e 3 £-/5/ ()

U6 R ET10 SE WL Pa bl ()

Construct a rectangle with sides 10cm and 6cm.

IR U 13 1 12 SURIS LIl 2 ()

Find the area of a triangle whose sides are 5, 12 and 13.

_uthwws C753) , BG, 2) L AL, D) St (L)
Prove that the points A(-1, 1), B3, 2) and C(7, 3) are collinear.
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